



QUALITY, VALUE AND INNOVATION IN WOUND CARE.

You're challenged daily to care for wounds, helping patients heal and avoid infection. You need high quality, high performance products. We can help.

Our extensive wound care portfolio offers an array of options to meet your needs—from gauze bandages and specialty dressings to tapes and adhesives.

We're always looking for ways to improve our products through innovation. Whether you're looking to reduce cross-contamination, save space or improve efficiency, we have just what you need. Here are a few of our latest innovations:

- » Gauze pads with rulers right on the packaging to save clinicians' time
- » ABD pads are folded in thirds rather than halves to save space
- » Our Bulkee® gauze roll is ultra soft with more crimps per inch for better stretching and greater patient comfort

Our products deliver top level performance and quality in the industry—and they're smartly priced.

Table of Contents

Absorbency	4-16
Preserve	17-18
Protection	19-28
Securement	29-41
Cross Reference	42-55

A tiered product approach for every need.

Medline's Premium products are the most feature-rich items that we carry. Medline Essentials are of equal performance, but designed to be the most cost effective.



ABSORBENCY

Contains drainage

Woven Gauze Sponges

100% cotton.

- » Ideal for wound dressings, wound packing and general wound care
- » Strictly controlled manufacturing assures clean, debris-free packing with folded edges to prevent unraveling
- » Sterile 2's packed in coated paper envelopes to reduce fiber debris
- » Easy-open envelopes carefully sealed to prevent the intrusion of dust and contaminants
- » Not made with natural rubber latex

PREMIUM

» "H fold" design offers a premium approach to minimizing loose threads and lint"

Item No.	Description	Pkg.
Sterile 2's USP	Type VII	
NON21420	2" x 2" (5.1 x 5.1 cm), 8-ply	50 pk/bx, 30 bx/cs, 1500 pk/cs
NON21422	3" x 3" (7.6 x 7.6 cm), 12-ply	40 pk/bx, 30 bx/cs, 1200 pk/cs
NON21448	4" x 4" (10.2 x 10.2 cm), 8-ply	50 pk/bx, 12 bx/cs, 600 pk/cs
NON21424	4" x 4" (10.2 x 10.2 cm), 12-ply	25 pk/bx, 24 bx/cs, 600 pk/cs
NON21842	8" x 4" (20.3 x 10.2 cm), 12-ply	25 pk/bx, 20 bx/cs, 500 pk/cs
Sterile 10's (Tra	ys) USP Type VII	
NON21425	4" x 4" (10.2 x 10.2 cm), 8-ply	10/tray, 128 trays/cs, 1280/cs
NON21426	4" x 4" (10.2 x 10.2 cm), 12-ply	10/tray, 128 trays/cs, 1280/cs
NON21428	4" x 4" (10.2 x 10.2 cm), 16-ply	10/tray, 128 trays/cs, 1280/cs
Non-Sterile (Bu	lk)	
NON25208	2" x 2" (5.1 x 5.1 cm), 8-ply	200/sleeve, 25 sleeves/cs, 5000/cs
NON25212	2" x 2" (5.1 x 5.1 cm), 12-ply	200/sleeve, 40 sleeves/cs, 8000/cs
NON25312	3" x 3" (7.6 x 7.6 cm), 12-ply	200/sleeve, 20 sleeves/cs, 4000/cs
NON25408	4" x 4" (10.2 x 10.2 cm), 8-ply	200/sleeve, 20 sleeves/cs, 4000/cs
NON25412	4" x 4" (10.2 x 10.2 cm), 12-ply	200/sleeve, 10 sleeves/cs, 2000/cs
NON25416	4" x 4" (10.2 x 10.2 cm), 16-ply	200/sleeve, 10 sleeves/cs, 2000/cs
NON25812	8" x 4" (20.3 x 10.2 cm), 12-ply	200/sleeve, 10 sleeves/cs, 2000/cs

MEDLINE ESSENTIALS

Item No.	Description	Pkg.	
Sterile 2's, USP Type VII			
PRM21420	2" x 2" (5.1 cm x 51 cm), 8-ply	50 pk/bx, 30bx/cs, 1500 pk/cs	
PRM21424	2" x 2" (10.2 x 10.2 cm), 12-ply	25 pk/bx, 24 bx/cs, 600 pk/cs	
PRM21448	4" x 4" (10.2 x 10.2 cm), 8-ply	25 pk/bx, 24 bx/cs, 600 pk/cs	
Sterile 10's (Soft Pouch), USP Type VII			
PRM21426	4" x 4" (10.2 x 10.2 cm), 12-ply	10/pk, 128 pk/cs, 1280/cs	
PRM21428	4" x 4" (10.2 x 10.2 cm), 16-ply	10/pk, 128 pk/cs, 1280/cs	





Woven Gauze Sponges (cont.)

MEDLINE ESSENTIALS

» "C fold" design minimizes loose threads and lint

Description	Pkg.
2" x 2" (5.1 x 5.1 cm), 8-ply	50 pk/bx, 30 bx/cs, 1500 pk/cs
3" x 3" (7.6 x 7.6 cm), 12-ply	40 pk/bx, 30 bx/cs, 1200 pk/cs
4" x 4" (10.2 x 10.2 cm), 8-ply	50 pk/bx, 12 bx/cs, 600 pk/cs
4" x 4" (10.2 x 10.2 cm), 12-ply	25 pk/bx, 24 bx/cs, 600 pk/cs
2" x 2" (5.1 x 5.1 cm), 12-ply	100 pk/bx, 24 bx/cs, 2400 pk/cs
4" x 4" (10.2 x 10.2 cm), 12-ply	100 pk/bx, 12 bx/cs, 1200 pk/cs
2" x 2" (5.1 x 5.1 cm), 8-ply	200/sleeve, 25 pk/cs, 5000/cs
2" x 2" (5.1 x 5.1 cm), 12-ply	200/sleeve, 40 pk/cs, 8000/cs
3" x 3" (7.6 x 7.6 cm), 12-ply	200/sleeve, 20 pk/cs, 4000/cs
4" x 4" (10.2 x 10.2 cm), 8-ply	200/sleeve, 20 pk/cs, 4000/cs
4" x 4" (10.2 x 10.2 cm), 12-ply	200/sleeve, 10 pk/cs, 2000/cs
4" x 4" (10.2 x 10.2 cm), 16-ply	200/sleeve, 10 pk/cs, 2000/cs
ental Sponges	
2" x 2" (5.1 x 5.1 cm)	200/sleeve, 25 pk/cs, 5000/cs
	2" x 2" (5.1 x 5.1 cm), 8-ply 3" x 3" (7.6 x 7.6 cm), 12-ply 4" x 4" (10.2 x 10.2 cm), 8-ply 4" x 4" (10.2 x 10.2 cm), 12-ply 2" x 2" (5.1 x 5.1 cm), 12-ply 4" x 4" (10.2 x 10.2 cm), 12-ply 2" x 2" (5.1 x 5.1 cm), 8-ply 2" x 2" (5.1 x 5.1 cm), 8-ply 2" x 2" (5.1 x 5.1 cm), 12-ply 3" x 3" (7.6 x 7.6 cm), 12-ply 4" x 4" (10.2 x 10.2 cm), 8-ply 4" x 4" (10.2 x 10.2 cm), 12-ply 4" x 4" (10.2 x 10.2 cm), 16-ply ental Sponges



X-Ray Detectable Woven Gauze Sponges

100% cotton.

- » Cutting-edge manufacturing technology minimizes lint
- » Highly absorbent
- » Dual X-ray detectable barium sulfate strands layered into the sponges in a unique figure 8 design for easy detection
- » Available in multiple sizes and plies
- » Not made with natural rubber latex
- » Skillfully manufactured to ensure gauze can be removed cleanly from tray

PREMIUM

Item No.	Description	Pkg.
Sterile (Trays) U	SP Type VII	
NON21430LF	4" x 4" (10.2 x 10.2 cm), 16-ply	10/tray, 128 trays/cs, 1280/cs
NON21432LF	8" x 4" (20.3 x 10.2 cm), 12-ply	10/tray, 80 trays/cs, 800/cs
NON21433	4" x 4" (10.2 x 10.2 cm), 32-ply	10/tray, 48 trays/cs, 480/cs
NON21438	8" x 4" (20.3 x 10.2 cm), 24-ply	10/tray, 20 trays/cs, 200/cs
Non-Sterile (Bu	lk)	
NON25430	4" x 4" (10.2 x 10.2 cm), 16-ply	10/band, 100/sleeve, 2000/cs

MEDLINE ESSENTIALS

Item No.	Description	Pkg.
USP Type VII X-Ray Detectable, Sterile, Soft Pouch		
PRM21430LF	4" x 4" (10.2 x 10.2 cm), 16-ply	10/pk, 135 pk/cs, 1350/cs





NON21430LF

100% Cotton Gauze Bandages

Ideal as a primary or secondary dressing.

- » Open weave design provides fast wicking, absorbency and aeration
- » Tightly finished edge minimizes lint
- » Increased crimps for improved cushioning and patient comfort
- » 6-ply bandage stretches and conforms for a variety of patient needs, especially burn care
- » Not made with natural rubber latex

PREMIUM

Bulkee II

Compare to Kerlix®*

Item No.	Description	Pkg.
Sterile (Singles), Stretched	
NON25865	4.5" x 4.1-yd. (11.4 cm x 3.8 m) 6-ply	100 rolls/cs
NON25861	3.4" x 3.6-yd. (8.6 cm x 3.3 m) 6-ply	96 rolls/cs
NON25850	2.25" x 3-yd. (5.7 cm x 2.7 m) 6-ply	12/bx, 96 rolls/cs
Non-Sterile, St	retched	
NON25855	4.5" x 4.1-yd. (11.4 cm x 3.8 m) 6-ply	100 rolls/cs
NON25855P	4.5" x 4.1-yd. (11.4 cm x 3.8 m) 6-ply	5 rolls/pk

^{*} This product is not manufactured by Medtronic, makers of Kerlix® dressings, bandages and sponges.

MEDLINE ESSENTIALS

Item No.	Description	Pkg.
PRM25865	4.5" x 4.1-yd. (11.4 cm x 3.8 m), Sterile 6-ply	100 rolls/cs
PRM25865P	4.5" x 4.1-yd. (11.4 cm x 3.8 m), Sterile 6-ply	5 rolls/pk
PRM25865H	4.5" x 4.1-yd. (11.4 cm x 3.8 m), Sterile 6-ply	1/ea
PRM25855	4.5" x 4.1-yd. (11.4 cm x 3.8 m), Non-Sterile 6-ply	100 rolls/cs



NON25865



Bulkee Lite® 100% Cotton Conforming Bandages

Compare to Kerlix® Lite* Recommended as a secondary dressing to secure IVs, dressings, splints.

- » Cushioning and a light stretch helps this bandage conform to body contours
- » 3-ply woven bandage provides mild compression

	e with natural rubber latex		
tem No.	Description	Pkg.	
Sterile (Single	s) Stretched		
NON27496	2" x 3.5-yd. (5.1 cm x 3.2 m) 3-ply	12/bx, 8 bx/cs, 96/cs	
NON27497	3" x 4.1-yd. (7.6 cm x 3.8 m) 3-ply	12/bx, 8 bx/cs, 96/cs	
NON27498	4" x 4.1-yd. (10.2 cm x 3.8 m) 3-ply	12/bx, 8 bx/cs, 96/cs	32
NON27499	6" x 4.5-yd. (15.2 cm x 4.1 m) 3-ply	6/bx, 8 bx/cs, 48/cs	
Jon-Sterile (R	ulk), Stretched		
NON27492	2" x 3.5-yd. (5.1 cm x 3.2 m) 3-ply	12/bg, 8 bg/cs, 96/cs	
NON27493	3" x 4.1-yd. (7.6 cm x 3.8 m) 3-ply	12/bg, 8 bg/cs, 96/cs	
NON27494	4" x 4.1-yd. (10.2 cm x 3.8 m) 3-ply	12/bg, 8 bg/cs, 96/cs	
NON27495	6" x 4.5-yd. (15.2 cm x 4.1 m) 3-ply	6/bg, 8 bg/cs, 48/cs	
			NON27496

Conforming Bandages

- » One-ply, rayon and polyester blend
- » Gently secures to body contours without restricting movement
- » Accommodates an increase or decrease in swelling
- » Uniquely constructed weave and finished edges help eliminate unraveling and lint
- » Provides stretch memory when applied
- » Ideal for secondary dressing applications
- » Not made with natural rubber latex

PREMIUM

Compare to Kendall Conform®*

Item No.	Description	Pkg.	
Sterile (Singles), Relaxed			
NON254955	1" x 75" (2.5 x 190.5 cm), 1-ply	12/bx, 8 bx/cs, 96/cs	
NON25496	2" x 75" (5.1 x 190.5 cm), 1-ply	12/bx, 8 bx/cs, 96/cs	
NON25497	3" x 75" (7.6 x 190.5 cm), 1-ply	12/bx, 8 bx/cs, 96/cs	
NON25498	4" x 75" (10.2 x 190.5 cm), 1-ply	12/bx, 8 bx/cs, 96/cs	
NON25499	6" x 80" (15.2 x 203.2 cm), 1-ply	6/bx, 8 bx/cs, 48/cs	

Non-Sterile (Bulk), Relaxed

NON25491	1" x 75" (2.5 x 190.5 cm), 1-ply	12/bg, 8 bg/cs, 96/cs
NON25492	2" x 75" (5.1 x 190.5 cm), 1-ply	12/bg, 8 bg/cs, 96/cs
NON25493	3" x 75" (7.6 x 190.5 cm), 1-ply	12/bg, 8 bg/cs, 96/cs
NON25494	4" x 75" (10.2 x 190.5 cm), 1-ply	12/bg, 8 bg/cs, 96/cs
NON25495	6" x 80" (15.2 x 203.2 cm), 1-ply	6/bg, 8 bg/cs, 48/cs

^{*} This product is not manufactured or distributed by Medtronic, makers of Conform® gauze bandages.

MEDLINE ESSENTIALS

Item No.	Description	Pkg.
Sterile – Unstret	ched	
PRM25496	2" x 75" (5.1 x 190.5 cm), 1-ply	12/bx, 8 bx/cs, 96/cs
PRM25497	3" x 75" (7.6 x 190.5 cm), 1-ply	12/bx, 8 bx/cs, 96/cs
PRM25498	4" x 75" (10.2 x 190.5 cm), 1-ply	12/bx, 8 bx/cs, 96/cs
PRM25499	6" x 80" (15.2 x 203.2 cm), 1-ply	6/bx, 8 bx/cs, 48/cs

Non-Sterile - Unstretched

PRM25492	2" x 75" (5.1 x 190.5 cm), 1-ply	12/bg, 8 bg/cs, 96/cs
PRM25493	3" x 75" (7.6 x 190.5 cm), 1-ply	12/bg, 8 bg/cs, 96/cs
PRM25494	4" x 75" (10.2 x 190.5 cm), 1-ply	12/bg, 8 bg/cs, 96/cs
PRM25495	6" x 80" (15.2 x 203.2 cm), 1-ply	6/bg, 8 bg/cs, 48/cs



NON25498



Deluxe Non-Woven Gauze Sponges

Unique rayon and polyester blend

Our most absorbent line

- » Unique rayon and polyester blend provides strength and absorbency
- » Increased material weight helps provide a more efficient sponge than our Medline Essentials line by reducing the number of sponges that have to be used for each procedure
- » Not made with natural rubber latex
- » Unique benefits compared to woven cotton gauze:
 - · Low linting
 - Increased absorbency
 - Fast wicking
 - Economical
 - · Less traumatic to granulating tissue

DELUXE

Item No.	Description	Pkg.
Sterile 2's		
NON264442	4" x 4" (10.2 x 10.2 cm), 4-ply	50 pk/bx, 12 bx/cs, 600 pks/cs
Non-Sterile (Bulk)		
NON26223	2" x 2" (5.1 x 5.1 cm), 3-ply	200/sleeve, 40 sleeves/cs, 8000/cs
NON26224	2" x 2" (5.1 x 5.1 cm), 4-ply	200/sleeve, 40 sleeves/cs, 8000/cs
NON26334	3" x 3" (7.6 x 7.6 cm), 4-ply	200/sleeve, 20 sleeves/cs, 4000/cs
NON26443	4" x 4" (10.2 x 10.2 cm), 3-ply	200/sleeve, 10 sleeves/cs, 2000/cs
NON26444	4" x 4" (10.2 x 10.2 cm), 4-ply	200/sleeve, 10 sleeves/cs, 2000/cs



Rayon and polyester blend

- » Produces less lint and is less traumatic to fragile granulating wound tissue than traditional woven cotton gauze
- » Virtually non-adherent
- » Significantly faster wicking ability promotes a healthy healing environment
- » Discover the perfect balance between strength and absorbency
- » Not made with natural rubber latex

PREMIUM

Item No.	Description	Pkg.
Sterile 2's		
NON21224	2" x 2" (5.1 x 5.1 cm), 4-ply	50 pk/bx, 30 bx/cs, 1500 pks/cs
NON21334	3" x 3" (7.6 x 7.6 cm), 4-ply	40 pk/bx, 30 bx/cs, 1200 pks/cs
NON21444	4" x 4" (10.2 x 10.2 cm), 4-ply	50 pk/bx, 12 bx/cs, 600 pks/cs
NON21446	4" x 4" (10.2 x 10.2 cm), 6-ply	25 pk/bx, 12 bx/cs, 300 pks/cs
Sterile 10's (Trays	5)	
NON21449	4" x 4" (10.2 x 10.2 cm), 4-ply	10/tray, 128 trays/cs, 1280/cs
Non-Sterile (Bulk	:)	
NON25223	2" x 2" (5.1 x 5.1 cm), 3-ply	200/sleeve, 25 sleeves/cs, 5000/cs
NON25224	2" x 2" (5.1 x 5.1 cm), 4-ply	200/sleeve, 40 sleeves/cs, 8000/cs
NON25334	3" x 3" (7.6 x 7.6 cm), 4-ply	200/sleeve, 20 sleeves/cs, 4000/cs
NON25443	4" x 4" (10.2 x 10.2 cm), 3-ply	200/sleeve, 20 sleeves/cs, 4000/cs
NON25444	4" x 4" (10.2 x 10.2 cm), 4-ply	200/sleeve, 10 sleeves/cs, 2000/cs
NON25449	4" x 4" (10.2 x 10.2 cm), 4-ply	25/sleeve,100 sleeves/cs, 2500/cs



NON26443



Non-Woven Gauze Sponges (cont.)

MEDLINE ESSENTIALS

Item No.	Description	Pkg.
Sterile 2's		
PRM21224	2" x 2" (5.1 x 5.1 cm), 4-ply	50 pk/bx, 30 bx/cs, 1500 pk/cs
PRM21444	4" x 4" (10.2 x 10.2 cm), 4-ply	50 pk/bx, 12 bx/cs, 600 pk/cs
Non-Sterile Bull	(
PRM25224	2" x 2" (5.1 x 5.1 cm), 4-ply	200/sleeve, 40 sleeves/cs, 8000/cs
PRM25444	4" x 4" (10.2 x 10.2 cm), 4-ply	200/sleeve, 10 sleeves/cs, 2000/cs



Bulkee II® Super Fluff Sponges

Compare to Kerlix® Fluff Sponges*

All the great features of Bulkee II in a sponge.

- » An excellent primary dressing with ideal loft, bulk and absorbency
- » Effectively manages exudate in and around the wound
- » Ideal for pre-op prepping and cleansing, debriding and packing
- » Not made with natural rubber latex

Item No.	Description	Pkg.
Sterile		
NON25852	6" x 6.75" (15.2 x 17.1 cm), diagonally	2/pk, 20 pk/bx, 12 bx/cs, 480 sponges/cs
NON25853	6" x 6.75" (15.2 x 17.1 cm), diagonally	5/tray, 120 trays/cs, 600 sponges/cs
NON25854	6" x 6.75" (15.2 x 17.1 cm), diagonally	10/tray, 48 trays/cs, 480 sponges/cs
NON25856	7.75" x 8.75" (19.7 x 22.2 cm), diagonally	2/pk, 25 pk/bx, 8 bx/cs, 400 sponges/cs
NON25844	4" x 4" (10.2 x 10.2 cm), 12-ply	2/pk, 25 pk/bx, 24 bx/cs, 1200 sponges/cs
NON25884	4" x 4" (10.2 x 10.2 cm), 12-ply	10/tray, 128 trays/cs, 1280 sponges/cs
Non-Sterile		
NON1167B	6" x 6¾" (15.2 x 17.1 cm)	100/sleeve, 12 sleeves/cs, 1200/cs

^{*} This product is not manufactured by Medtronic, makers of Kerlix dressings, bandages and sponges.

